THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION MAY ,2010. Loc DIST REVISIONS
; TE
@ COPYRIGHT 2010 By — ALL RIGHTS RESERVED ES P OR DESCRIPTION DATE DWN | APVD
1 CONTACT COPLANALITY IS 0.1 MAX. B2 | REVISED ECR—11-023607 21Nov2011[J.H | S.Y
zﬁx THIS DIMENSION MEANS CENTER OF THE POCKET.
D % M3 TAPPING + BVTP RECOMMENDED TORQUE: 68.6N (7Kgf) MAX. D
FINISH

CONTACT: V «m MIN. Au PL. ON CONTACT AREA (V: SEE TABLE)
0.03~0.1 um Au PL. ON TERMINAL AREA
Ni UNDER PL. ALL OVER
SHELL: Sn PL. (MATTE) ALL OVER
Ni UNDER PL. ALL OVER
—] A\ SCREW SIZE -
QTY PRINT ON THE LABEL. (EMBOSS PACKING)

c 0.1 - As50[09 | — | = | - | - |335|37.5(9.32| 0.4 | 32 |28.4|14.2| 16 | wrHOUT TAPE | WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (qef'sueey 5) | 1932649—6 | C
SOFT TRAY
03 | M3x05 | 70 |19 |46 |138[6-23| 46 | — | — | = | = [ = = | — | — | WrHOUT TAPE | WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) | (sgr spggr 6) |2~ 1932649-5
SOFT TRAY
03 | M3x05 | 70 |19 |46 |138[6-23| 46 | — | — | = | = | = | = | — | — | wrHour TaPE | WTH FLANGE | THROUGH HOLE | (SEE SHEET 3) | (cgr spger 6y |1~ 19326495
SOFT TRAY
0.3 M3 x 0.5 70 1.9 | 46 | 138 | 6-23 | 46 - - - - - - - - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SEE SHEET 6) | 1—1932649-2
SOFT TRAY
0.1 M3 x 0.5 70 1.9 | 46 [ 138 | 6—23 | 46 - - - - - - - - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) (SEE SHEET 6) 1932649-5
SOFT TRAY
0.1 | M3x05 | 70 19| 46 [138|6-23| 46 | — | — | = | = | = | = | = | = | wrHOUT TAPE | WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | (sgp super 6) | 1932649—4
01 | M3 x 05 |A200 19| — | = | - | - |455[495|18.3| 0.5 |44 [40.4(20.2| 20 | wHoUT TAPE | WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | qgf ‘pery 5)| 19326493
B B
SOFT TRAY
0.1 |Aw265+£03 70 |19 | 46 | 138 |6-23| 46 | — | - - - |- - - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | pr syppr 6) | 1932649-2
0.1 - Asso[ 19| — | = | - | - |335|37.5(9.32| 0.4 | 32 |28.4|14.2| 16 | wrHouT TAPE | WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (et 'creey 5) | 1932649—1
v u T M| s | R P N|M|L|K]| Jd|H| G| F |E|POLIMDE TAPE| FLANGE |[SHELL TYPE | CONNECTOR | PACKING PART NUMBER
/Aau PL| ASCREW siZE| QTY DIMENSION PART LIST
THIS DRAWING IS A CONTROLLED DOCUMENT. |™ 20MAv2010 —
GH%FISHER ZOWAYZOT0 = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS L.MARTIN
M K OTHERWISE_SPECIFIERY [ APVD 20MAY2010 Néw,g
mm e R _LSTEVEN HDMI 19 POS RECEPTACLE ASSY
!
A ;:ﬁ x lli'41'68_78180_8 SMT SHORT TYPE A
($9 E APPLICATION SPEC
ipll:; : . RftEERS SIZE | GAGE' CODE [DRAWNG NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 932649 -~
CUSTOMER DRAWING SME 41 Y 107 |®Ro

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION MAY ,2010. LoC DIST REVISIONS
@ COPYRIGHT 2010 By — ALL RIGHTS RESERVED. ES P OR DES§R$P110N DATE DWN | APVD
- SEE SHEET 1 - — —
D 15.7 +0.1 D
R0.3%01 ]
TYP.(8)
|
REF - ¢
14.8 — 5 % |
9 o 4, t———— p—-——-— -— #19 #1
— 0.2%0.03 4.75 “ i ~ 3 REF ] B
|
/@ 8 ! ° 0.32003] \ H . [475 25REF g
o
Aiaidaidhidaineg i 10,80 5 %
. — | w—— o 13.95 0.1 i . (19) —l— o
' & S -
. | . PANEL CUT OUT DIMENSION (REFERENCE) 2 mmmmmﬂmmmmmmmmmﬂmm A
0 ! ! ! i 3 g 3 . A2 ol b
| | | w b | To 0
A I oy g N 7{ | _643_ g o
16 REF H | N
9:|:0.3 / ! ‘
— 4-61.9 \ —
| _0&®? (LAND, BOTH SIDE) +g.15 14.5%0.05 1=
099 157005 |
o =) ] ) $[0.08[x1
% i - 79 \eca ever
o dis=—=—~=__C =] CONNECTOR FRONT SURFACE
o
o | VL P.C.B LAYOUT (REFERENCE)
B g < SHOWN AS CONNECTOR MOUNTING SIDE B
< 1£0.05( || _}‘ 1%0.05 TOLERANCE: NON—CUMULATIVE
+0.1 +0.1
14.40.1 . 3K ol
15.640.1 | BRASS contacT [ (3)
STAINLESS STEEL sHELL  [(2)
GLASS FILLED LCP ULO#V—0, | LousinG 0
— . BLACK COLOR —
CONNECTOR: WITHOUT FLANGE THROUGH HOLE TYPE
e MATERIAL DESCRIPTION | mem
M ¥ THIS DRAWING IS A CONTROLLED DOCUMENT. [P ==
I o o LN TE TE Connectivity
u TR OTHERWISE. SPEGHEDE | APD e
! o o P¥ HDMI 19 POS RECEPTACLE ASSY
0 PLC + PRODUCT SPEC
A REF 1 PLC uEAn SMT SHORT TYPE
14 $ E § :tg : APPLICATION SPEC
42 : nftEARR SIZE | GAGE' CODE [DRAWNG NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 932649 -~
CUSTOMER DRAWING SME 4.1 ¥ o w7 [®Ro
1470-19  (3/11)



4 3 2 !
THIS DRAWING IS UNPUBLISHED. [ RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REV!IESIONS
. =
© copvricHr 2005 By - ALL RIGHTS RESERVED ES F] OR DESCRIPTION DATE OWN | APVD
15.7 0.1 — | SEE SHEET 1 - - | -
REF $3.2 £0.1
D 14.8 =
K] 7
0.£0.03 -
[¢]0.1]X] /@ Rc%.z): 0.1 | ¢
TYN | o
T ] J— i 19 1
—] | |9 i_ 3 REF &l
| N [Te)
N d - ] - —— T +0.03
| o < | , 3200\ L @ | [ s g
1
| : ~ S [@]o.06]x1] 3
. H TYP. (19)
8 | el o
| 3 = -
+ -HN 10.8 +0.1 o
— 13.25 £0.1 — yi4 I{' m 7an\y
<] & & ! A\ ol &
PANEL CUT OUT DIMENSION (REFERENCE) e b | To 0
[e)] <
c g:|:0.3 &In 2 < i o o
P r 7'_/ %) ~
% | _Q:
!
/ ! \
< 4-41.9 \
— | e (LAND, BOTH SIDE) +0.15 14.5%0.05 i
#19 i #1 ol Py 1574005 |
+H -~ (T/H) '$' 0.08]X1
—— " \ PCB EDGE
2) o o S CONNECTOR FRONT SURFACE
] - o
I - N —
H ; 1 o —Fr—a—]
o]
™ 1 e o P.C.B LAYOUT (REFERENCE)
5 : — SHOWN AS CONNECTOR MOUNTING SIDE
#s /T M o I TOLERANCE: NON—CUMULATIVE
H
0.4%0.05 < 1£0.05 1£0.05
+0.1 +0.1 - :(;l
14.4 | 350 go- BRASS contact [ (3)
+0.1 = =
15.6 . ' STAINLESS STEEL SHELL (2)
- TS G5 F 0| wovna |
CONNECTOR: WITH FLANGE THROUGH HOLE TYPE MATERIAL DESCRIPTION | mem
THIS DRAWING IS A CONTROLLED DOCUMENT. N [—
E'\ o = TE TE Connectivity
B R OTHERWISE. SPEGRERY |APVD e
o Teax HDMI 19 POS RECEPTACLE ASSY
o PLC + PRODUCT SPEC
A 1 PLO ugaAn SMT SHORT TYPE
$ E § :Eg : APPLICATION SPEC
1 'ZEF 4 + mfHARAR SIZE | CAGE CODE | DRAWING NO RESTRICTED
. LES + %
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 932649 -
CUSTOMER DRAWING SME 41 Y 307 R0
1470-19 (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. Loc DIST REVLSlONS
- =
@ COPYRIGHT 2005 By — ALL RIGHTS RESERVED ES P OR DESCRIPTION DATE OWN | APVD
15.7 01 — | SEE SHEET 1 _ — | =
D 15REF < 83.2 *01 D
@ -
0.£0.03 ' -
= R0.3 *0-1 ! S
[$0X] PO) wm | o
TITTITTTITYITTY el =TT | m\ 1
— rr—J | i 7y gl 4 L 3 REF & —
N [Te)
H = ] 1 +0.03
| % o[ < i ° 0.3 \ m | m 2.5 REF 0
- . . , - S  [#]o.08[x]] 3
O | | | i 1 H TYP. (19)
i i i ] I 9 2
| H_!_h | 301 10.8 £0.1 o o
S = : ooy TN
o A\

PANEL CUT OUT DIMENSION (REFERENCE)

9.45 REF

REF
7.5 MAX
4.9 +0.05

7.55 REF

1
, |
¢ +0.3 % 7’(_/ | ' c
12 £0.2 g0 . 5 i _Qg
ﬁ\ i L H
4-01.9 \
—] -——- (LAND, BOTH 14.5+0.05 \ = —
<
3 15.7 £0.05
] +0.2
ol % | 085 $Joosx1] |
S & PCB EDGE
o CONNECTOR FRONT SURFACE
™) L
o o~ i E
] o
H é 8-
e R . S s, 9B P.C.B LAYOUT (REFERENCE)
5 o SHOWN AS CONNECTOR MOUNTING SIDE 5
b TOLERANCE: NON—CUMULATIVE
| |
- *
s |eoos|||__ __|||__1%00s BRASS contacT [ (3)
14,5801 S, g0 BRASS sHELL  [(2)
_ xF— - TS TR G0 | wova O]
| CONNECTOR: WITH FLANGE THROUGH HOLE TYPE MATERIAL DESCRIPTION | mem
THIS DRAWING IS A CONTROLLED DOCUMENT. [P [— -
o . | E o = TE TE Connectivity
%o H] i DR o s, T
o . S o o P¥ HDMI 19 POS RECEPTACLE ASSY
o PLC + PRODUCT SPEC
A | u EE: 1 PLC EEAR SMT SHORT TYPE A
[ 2 PLC +
3 PLC, + APPLICATION SPEC
42 : nftEARR SIZE | CAGE CODE D;A;HNG NO RESTRICTED
1.925 REF MATERIAL FINISH WEIGHT A3|00779|(C=1932649 <
CUSTOMER DRAWING SME 41 M 407 |®Ro

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION MAY ,2010. Loc DIST REVISIONS
@ COPYRIGHT 2010 By — ALL RIGHTS RESERVED. ES P OR DES§R$P110N DATE DWN | APVD
- | SEE SHEET 1 - =
A E +0.1 1932649—-1, 1932649—6; AS SHOWN
D 4 £0.1 D
2 +0.1 zﬁxz +0.1 é
S )|
B B N
1 I \
MO OO b
| | | R 1932649-3; AS SHOWN
/, ! | =} | —._(, W (SCALE 1:1)
5 M
! | | == \ g g
! : \ f E= S R =
|+t e et = v o
\ 1 ﬁ i Lo }
J— — O
‘ | \ So ! 1
- ! n ! I S | )
i j o T 111
c FO-0—-0—00-010-0-0 | ! c
REF Fot-o0-0600000-00,
DETAIL A 9 1.5%3" DETAIL A
5
_ o . B -
o
H t ﬂ =
X|
! B-B
B-B
ol 3
& 83805 SEE DETAIL A
B = B
I e A
: oooooog-—
: (\__,)j 5 WEEDING THE COVER TAPE: 300 MIN LABEL DESCRIPTION
#80+1 (NOT INCLUDE EMPTINESS POCKET) TYCO P/N: *—1932649—* PET COVER TAPE
QTY: * pcs
PLASTIC REEL PULL OUT DIRECTION EEIEH'I\\II% é"\II'SII-EEI:G'IJHGS.N180. D/C: PS CARRIER TAPE
: MADE IN CHINA
— 0.1~0.7N (300mm,/min.) PLASTIC REEL  —
CARRIER TAPE MATERIAL DESCRIPTION
vl nlalleialalalaiainlalalals THIS DRAWING IS A CONTROLLED DOCUMENT. |™™ =
A ——|\—\$:,—— = = TE TE Connectivity
TR NS e e
mm —Ban HDMI 19 POS RECEPTACLE ASSY
oPC x o SMT SHORT TYPE
A |.400 MIN._| WITH PRODUCT CHARGE_| 25 HOLES MIN. b e K A
' ' QTY: T PCS ' '@"E’a PLG x APPLICATION SPEC
4 2 : mfHARAR SIZE | CAGE CODE D;A;HNG NO RESTRICTED
MATERIAL FINISH WEIGHT A:/) 00779 @,:.1 932649 -
CUSTOMER DRAWING SME 41 ¥ 507 |®Ro

1470-19  (3/11)



THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION SEP ,2005. LoC DIST REVISIONS
@ COPYRIGHT 2005 By — ALL RIGHTS RESERVED. ES P OR DES§R$P110N DATE DWN | APVD
- SEE SHEET 1 - - -
1932649—-2, 1932649—4, 1932649-5, 1-1932649—-2, 1-1932649-5, 2—1932649-5; AS SHOWN
D 0 D
335-3
10x45" A 5003 243REF A\ 4%03
- 20.1%0-8
SEE DETAIL C
— "a B, \ | -
g T
) D
L] (L]
& -1 ' i
walal el i ;
g | EE | l.! !
: U] X
on| | A i\ '}. If il:l
R DRl DR
(@] e L m |
c g - J= Iﬁi i | -+ ¢
b L DETAIL C
| (e 1 N (SCALE 2:1)
8 I - I -
H e [E
_ e Al g i | |
O L D LR H pD
IH‘E IHI; N ¥
% nilvid 3
4 z
B B
MATING FACE
DIRECTION

1 v
= PS TRAY  (—
] ll_ / MATERIAL DESCRIPTION
THIS DRAWING IS A CONTROLLED DOCUMENT. |™™ e=
1 = TE TE Connectivity

\J ‘\ CHK
=1 \ DIMENSIONS: TOLERANCES UNLESS o T
/_II \ M K oml-:mﬂﬂznsgpl-:cm g e
mm 2 HDMI 19 POS RECEPTACLE ASSY
X 1 o pLC + PRODUCT SPEC
| | 1 PLC uEAn SMT SHORT TYPE A
N @ E 2 PLC

A +
MATING FACE D D i PII::S : + AP‘P{'ITJgAHTg% b SIZE | CAGE CODE D;AQV‘IING NO RESTRICTED,
DIRECTION (SCALE 2:1) WA P WelGHT A3|00779(G=1932649 -
CUSTOMER DRAWING SME 41 ¥ 5 o7 |®Ro

1470-19  (3/11)



THIS DRAWING 1S UNPUBLISHED. [ RELEASED FOR FUBLIGATION MAY ,2010. Loc DIST REVISIONS
3 Ed
© copvrioHT 2010 By - ALL RIGHTS RESERVED ES FT R DESCRIPTION DATE oW | AFVD
- SEE SHEET 1 - - -
D D
2 MAX
PLUG CONNECTOR | | RECEPTACLE
CONNECTOR
WITHOUT FLANGE TYPE
] - N E -
(ji = d 2
N |1
|| Ml ]
2M|N |
C C
SCREW
2 2 MAX
=
PLUG CONNECTOR A | | RECEPTACLE
—] L CONNECTOR I
h WITH FLANGE TYPE
=)
N b
O - "= d @
(N
L Il ]
B B
2M|N |
MATING CONDITION (REFERENCE)
(SCALE 2:1)
THIS DRAWING IS A CONTROLLED DOCUMENT. [P [—
o = TE TE Connectivity
| o e wE
mm e e — Eh HDMI 19 POS RECEPTACLE ASSY
A 1 PLC ugaAn SMT SHORT TYPE A
2 PLC *
'@"E’ 3 PLC + APPLICATION SPEC
42 : nftEARR SIZE | CAGE CODE D;A;HNG NO RESTRICTED
MA‘;E!E{IAL FIEIEIJS:H WEIGHT A:/) 00779 @,:.1 932649 -~
CUSTOMER DRAWING SME 41 Y 7 w7 [®Ro

1470-19  (3/11)



